Se

(mod 3)

blocks | defect | matrix
3.G: 1 3 13 x5
2 1 3 %2
6.G : 3 3 10 x 2
Block 1: | w10 $11 Y2+ ®40 P41
11 = x1,0 1 .
lo =x1.1 . 1 .
91 = X2,0 1 . 1 -
92 = X2,1 . 1 1
93 = X3,0 1 . . 1
54 = X3,1 . 1 . 1 .
161 = x4t 1 1 1 1 1
101 = x7,0 1 1 :
102 = x7.1 1 1
61 = X14+ 1
62 = X15+ . . 1 . .
121 = x16+ 2 2 . 1 1
301 = X184 1 1 2 2 2
Block 21, 23: | v50 ©5.1
91 = X6,0 1 - ©5,0
92 = Xe,1 1 5,1
181 = x17+ 1 1

©1,0
®1,1
P2+
©4,0
P4,1

9>



Block 3: | ps+ s+

41 = xs,0 1

4y = X381 1

43 = X9,0 1

44 = X901 1 .
162 = x10+ 1 1
201 = X124+ 2 1
122 = X190+ 1
123 = x20+ . 1
241 = x21+ 3 1
242 = X22+ 3 1

P6+
P8+

124



